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total_wrong:0

x_thread_time:163us, thrad_idx:6

RC Right: 8000 CRC Wrong: @ L2:Tx/Rx_Stub[7999/0]1Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[O/0/0]PHY_
Xx_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, total_cnt:19032588,
total_wrong:0

RC Right: 8000 CRC Wrong: @ L2:Tx/Rx_Stub[8000/0]1Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[O/0/0]PHY_
Xx_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, total_cnt:19040588,
total_wrong:0

RC Right: 8000 CRC Wrong: @ L2:Tx/Rx_Stub[8000/0]1Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[O/0/0]PHY_
Xx_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, total_cnt:19048588,
total_wrong:0

RC Right: 8000 CRC Wrong: @ L2:Tx/Rx_Stub[8000/0]1Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[O/0/0]PHY_
x_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, total_cnt:19056588,
total_wrong:0

RC Right: 7999 CRC Wrong: @ L2:Tx/Rx_Stub[7999/0]1Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[O/0/0]PHY_
x_Lst[0/0],Rx_Cnt[7999] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, total_cnt:19064587,
total_wrong:0

X_thread_time:1000163us, thrad_idx:6

RC Right: 8000 CRC Wrong: @ L2:Tx/Rx_Stub[8000/0]1Tx/Rx_Traffic[0/0]1ETH_REV/SND/ERR[0/0/0]PHY_
X_LST|U/U],RX_CAT|8U0UU] Dagclu] avg peer-to-peer trans delay[0.000000]ms, total_cnt:19072587,
total_wrong:0

RC Right: 7999 CRC Wrong: @ L2:Tx/Rx_Stub[8000/0]1Tx/Rx_Traffic[0/0]1ETH_REV/SND/ERR[0/0/0]PHY_
x_Lst[0/0] ,Rx_Cnt[8000] Dagc[B] avg peer-to-peer trans delay[0.000000]ms, total_cnt:19080586,
total_wrong:0

RC Right: 8000 CRC Wrong: @ L2:Tx/Rx_Stub[7999/0]1Tx/Rx_Traffic[0/0]1ETH_REV/SND/ERR[0/0/0]PHY_
x_Lst[0/0] ,Rx_Cnt[7999] Dagc[B] avg peer-to-peer trans delay[0.000000]ms, total_cnt:19088586,
total_wrong:0

Xx_thread_time:121lus, thrad_idx:2

RC Right: 8000 CRC Wrong: O L2:Tx/Rx_Stub[8008/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[O/0/0]PHY_
Xx_Lst[0/0],Rx_Cnt[8000] Dagc[@] avg peer-to-peer trans delay[0.000000]ms, total_cnt:19096586,
total_wrong:0

RC Right: 7999 CRC Wrong: O L2:Tx/Rx_Stub[8008/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[O/0/0]PHY_
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if (diff_time_now_ns(time_now) /1000 > 400) {
sprintf(out_msg, "rx_thread_time:%lldus, thrad_idx:%d\n"

if (time_diff > 180 * 1000) {
sprintf(out_msg, "tx_thread_time:%lldns, tx_thread_id:%d\n"
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if (diff_time_now_ns(time_now) /1000 > 400) {
sprintf(out_msg, "rx_thread_time:%lIdus, thrad_idx:%d\n"

if (time_diff > 180 * 1000) {
sprintf(out_msg, "tx_thread_time:%lldns, tx_thread_id:%d\n"
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